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AP Calculus AB: Volume

Do Now:

Ms. Loughran

1. Find the volume of the solid that results when the region bounded by
y=x"+4,y=2,x=0, and x =1 is revolved about the line y=—1.
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Calculus AB
[ PartA |

3. For x 2 0, the horizontal line y = 2 is an asymptote for the graph of the function f. Which of the following
statements must be true?

A) f(O)=2
B) f(x)# 2 forall x 2 0
© fQ2)is undefined.

(D) lim f(x) =

© lm /=2
ey = ()
2x +3 dy (3)(“'9‘12)’ (M\
4. If}'=23x+§.thcna;= 2-7 (3'{1’&)?
12x + 1 12x - 13 5 =5 g
() (3x +2)* (B) (3x +2)° @ (3x +2)* ® (3x +2)° ® 3
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Calculus AB

5. Esinxdx:

Section I

w-Z2 o2 o-La o-La ®Z-
3 2
6. limx3—2Jc2+3Jt:—4=
x—00 4x° - 3x° +2x—1
@4+ B @y DO ® -1
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talculus AB
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9. Iff(x) = In(x + 4 + ™), then £7(0) is

®-3 ®»i ©i
[ l I "35_3)(
(x - 'y
Xed4l
Mo g 17369
0+y+e’

) 2
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(E) nonexistent
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Section I Calculus Al

X

AN
/

Graph of f

13. The graph of a function f is shown above. At which value of x is f continuous, but not differentiable?

o a B) b ©) ¢ D) d E) e

14.1f y = 5* sin 2, then 2 = Xa A B (906) + JXS'W\ AX
(A) 2xcos2x Q'X (x &5 (Qx) + Slv\ 2)()

(B) 4xcos2x

(C) 2x(sin 2x + cos 2x)
(D) 2x(sin 2x — x cos 2x)
@ 2x(sin 2x + Xx COS 2x)
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calculus AB Sectiont 1

15. Let f be the function with derivative given by f’(x) = x? - % On which of the following intervals
is f decreasing?

(A) (-eo,—1] only
(B) (==, 0)

(C) [-1, 0) only
(D) (0,¥2]

(B) [¥Z,)

16. If the line tangent to the graph of the function £ at the point (1, 7) passes through the point (-2.-2),
then f’(1) is

(A) =5 (B) 1 (@ 3 (D) 7 (E) undefined 7’ ("l) q
m-= -— =
F) 3
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Calculus AB Section I
Part A

19. A curve has slope 2x + 3 at each point (x, y) on the curve. Which of the following is an equation for this curve
if it passes through the point (1, 2) ?

A) y=5x-3
B) y=x2+1
© y=x2+3x

D) y=x*+3x-2
B) y=2x2+3x-3

)d =t e x=3
x+2 ifx<3
f(x)={4x—7 ifx>3 S-’—(
20. Let f be the function given above. Which of the following statements are true about f?

L lim f(x)exists. ¢/
x—3
II. f is continuous at x = 3. '/
X<

III. f is differentiable at x = 3. ,
] -
(A) None ‘I‘ [ K ) -
(B) Ionly (l X )3
(C) II only

@ ! and II only

(E) L, I, and II I fl‘{ |
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24.

Let f be the function defined by f(x) = 4x> — 5x + 3. Which of the following is an equation of the line tangent
to the graph of f at the point where x = —1?

(A) y=7x-3

®) y=Tx+7 f(__l): L“.,l)a,_ 5(4) 43 = —-l{ 4..54.3 :V
o ['lg)= 15
*F\(—\) = IQ(%)’A*S =7

\é KH\
q' 7X+H

253

A particle moves along the x- _axis so that at time ¢ = O its position is given by x(t) = 213 - 21¢% + 72t — 53.
At what time ¢ is the particle at rest?

(A) t =1 only

® =3 n v(t)= b 2 -Yat+ T4

i vig=b[£=-7t+ 1)

@i = b (£3XE)
0:¢[e~ﬁka)

=31

32
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Calculus AB Section I

26. What is the slope of the line tangent to the curve 3y* — 2x% = 6 — 2xy at the point (3, 2) ?

wo B ©45 O3 ® 3
(32
by 4t -4 = -2 -2y /
i) bt ~463)= -23) % 20
2% -3 = -5 Yhx -4
18 Yy =5 _8 -

9
27. Let f be the function defined by f(x) = x3 + x. If g(x) = f7'(x) and g(2) = 1, what is the value of g’(2) ?

Wy Pi ©F @+ ®B 2:_1_ -1
PN i B AN
)é.p -2=b ] 12 0 ‘Fl{X) = ¢+
L) : KK+ = 0 fu()=30+ =1
J e -|m & imadhay

{),2) i ) /
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